Chapter 12: Key Issue 2 – Where Are Consumer Services Distributed?
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1. Who developed AND what is the purpose of Central Place Theory?

2. Why are hexagons the best shapes for explaining a market area (hinterland) in the Central Place Theory?

3. Research the concept known as the Daily Urban System. Who developed the concept in the USA?  What is the main human activity doe this focus on? Provide an example.
Who Developed = 

Human Activity = 

Example of the Human Activity = 

4. To determine the extent of a market area, geographers need to determine a service’s range and threshold. Define what is meant by each of the terms below AND give an example.

	Vocabulary Term
	Definition
	Example

	Market Area / Hinterland
	
	

	Range
	
	

	Threshold
	
	


5. Use the diagram below to make annotated notes that explain the market areas and distributions of different settlements according to Walter Christaller’s Central Place Theory.

	City
	

	Town
	

	Village
	


[image: image2.png]D, Distance between City a and b
P

14 population b

population a

Note: Dy s the distance from City “a”
10 the Breaking Point





6. Patterns & Settlement Distribution: Rank-Size Rule vs. Primate City Rule.  Explain each pattern by completing the chart below:

	Rank-size Rule
	Primate City Rule

	Explanation:


	Explanation:



	Example: 

Because…
	Example:

Because…




7. Consider professional geographer Matt Rosenberg’s explanation of the gravity model below:

“The gravity model, as social scientists refer to the modified law of gravitation, takes into account the population size of two places and their distance. Since larger places attract people, ideas, and commodities more than smaller places and places closer together have a greater attraction, the gravity model incorporates these two features.  The relative strength of a bond between two places is determined by multiplying the population of city A by the population of city B and then dividing the product by the distance between the two cities squared…”
So the equation looks like this: P1 X P2 / D². This results in a “factor of interaction” between the two places, the higher the factor the more interaction is likely between the two places (Source: https://www.thoughtco.com/what-is-the-gravity-model-4088877). Use this & 2010 Census data to calculate the interaction level in the chart below:
	Place 1
	Population 1
	Place 2
	Population 2
	Distance Between
	Interaction Factor

	City of LA
	
	Portland, OR
	
	
	

	City of LA
	
	Denver, CO
	
	
	

	City of LA
	
	New York City
	
	
	


Which pair of cities above has the highest likelihood of interaction?

Also, Matt Rosenberg cites William J. Reilly’s Retail Law of Gravitation (1931) which states that the larger a city, the larger a trade area it would have and thus it would draw from a larger hinterland around the city. Two cities of equal size have a trade area boundary midway between the two cities. When cities are of unequal size, the boundary lies closer to the smaller city, giving the larger city a larger trade area… Reilly called the boundary between two trade areas the (distance) breaking point (BP). On that line, exactly half the population shops at either of the two cities… The formula is used between two cities to find the BP between the two. The distance between the two cities is divided by one plus the result of dividing the population of city B by the population of city A. The resulting BP is the distance from city A to the 50% boundary of the trade area. 
(Source: https://www.thoughtco.com/reillys-law-of-retail-gravitation-1433438). Use 2010 US Census data when considering the best business location to serve the needs of the pairs of cities below:





	City A Pop
	City B Pop
	Distance (Miles)
	DBP from A

	Glendale:
	No. Hollywood:
	
	

	Glendale:
	Van Nuys:
	
	


Explain the data above.  How would an entrepreneur use this information?
8. Explain what is meant by the term periodic markets AND give an example of one near GHS.
